

October 16, 2020

BY ELECTRONIC MAIL

Luly E. Massaro, Commission Clerk Rhode Island Public Utilities Commission 89 Jefferson Boulevard Warwick, RI 02888

RE: Docket 5040 - 2020 Distribution Adjustment Charge (DAC)

<u>Informal Requests at October 6, 2020 Hearing Regarding the Revenue Decoupling Mechanism</u>

Dear Ms. Massaro:

At the hearing in the above-referenced docket on October 6, 2020, Company witness Michael Pini was asked a question regarding the operation of the Revenue Decoupling Mechanism ("RDM"). Mr. Pini agreed to provide background and examples regarding how a gas RDM would operate under an Annual Target Revenue ("ATR") framework rather than a Revenue Per Customer ("RPC") framework and to further explain why the RDM is calculated on a monthly basis instead of on an annual basis. Although the PUC did not issue a record request for these questions, Mr. Pini agreed on the record to provide the requested illustrations. In efforts to answer these questions and provide clarification for the PUC, the Company has prepared the summary attached to this letter as Attachment 1.

Thank you for your attention to this matter. If you have any questions, please contact me at 781-907-2121.

Very truly yours,

Raquel J. Webster

Enclosures

cc: Docket 5040 Service List Leo Wold, Esq. John Bell, Division Al Mancini, Division

The Narragansett Electric Company d/b/a National Grid RIPUC Docket No. 5040 Informal Requests at October 6, 2020 Hearing Revenue Decoupling Mechanism Attachment 1 Page 1 of 2

Gas utilities typically employ RDMs having an RPC structure because, unlike electric utilities, gas utilities generally have the opportunity for significant growth in customers. An RPC structure provides gas utilities with the additional revenue needed to fund incremental costs incurred to connect and provide service to the new customers, whereas an annual target revenue ("ATR") RDM does not. The simplified example below illustrates how an RDM would work under the RPC and ATR structure for a \$1 million base distribution revenue requirement under scenarios assuming no customer growth and with customer growth. The example assumes that the benchmark RPC and the actual RPC are the same. If there is no customer growth (scenario 1), there is no difference in the final Revenue Decoupling Adjustment ("RDA") for scenario 1 and scenario 2. However, under scenario 2, which assumes three percent customer and revenue growth, the ATR method caps the revenue at \$1 million and results in a \$30,000 RDA credit balance, meaning the Company must credit customers the incremental revenue realized from those customers that it would need to fund the cost of connecting and serving those new customers.

Annual RPC vs. Annual Target Revenue ("A	ATR") Under Growth	and No-Grow	th Scenarios
	Benchmark	Annual	Annual
RPC Method	Annual Target Rev	No. Cust	Target RPC
Scenario 1: No change in customer count	\$1,000,000	500	\$2,000
Scenario 2: 3% customer / revenue growth	\$1,000,000	500	\$2,000
	Actual	Actual	Annual
	Revenue	No. Cust	Actual RPC
Scenario 1: No change in customer count	\$1,000,000	500	\$2,000
Scenario 2: 3% customer / revenue growth	\$1,030,000	515	\$2,000
		Difference in	
	No. Cust	<u>RPC</u>	<u>RDA</u>
Scenario 1: No change in customer count	500	\$0.00	\$0
Scenario 2: 3% customer / revenue growth	515	\$0.00	\$0
ATR Method	ATR Benchmark	Actual Rev	<u>RDA</u>
Scenario 1: No change in customer count	\$1,000,000	\$1,000,000	\$0
Scenario 2: 3% customer / revenue growth	\$1,000,000	\$1,030,000	(\$30,000)

The Narragansett Electric Company d/b/a National Grid RIPUC Docket No. 5040 Informal Requests at October 6, 2020 Hearing Revenue Decoupling Mechanism Attachment 1 Page 2 of 2

In a second example in which the actual annual base distribution revenue equals the base distribution revenue requirement approved in the Company's last rate case, but the number of customers has increased, there will be an RDM under-recovery because the actual RPC will be less than the benchmark RPC. This is illustrated in Scenario 3 below. In this situation, the RPC structure used by gas utilities allows the Company to recover this under-recovery in revenue (actual number of customers multiplied by the difference in the benchmark RPC and actual RPC) via the RDM because the utility has added customers to its distribution system and incurred costs to serve those customers. Otherwise, there is no incentive for gas utilities to add new customers, which reduces the cost of the distribution system for all gas customers.

In Scenario 3, there is an addition of 15 customers, but no increase in revenue. Through operation of the RPC RDM, the Company is able to recover the under-recovery in RDM revenue calculated as total customers multiplied by the difference in the RPC benchmark and the actual RPC ($515 \times (\$2,000 - \$1,942)$), thereby retaining the revenue to fund the cost to connect and serve the 15 new customers.

between the state we containers.			
	Benchmark	Annual	Annual
RPC Method	Annual Target Rev	No. Cust	Target RPC
			_
Scenario 3: No revenue growth, 3% customer growth	\$1,000,000	500	\$2,000
	Actual	Actual	Annual
	Revenue	No. Cust	Actual RPC
Scenario 3: No revenue growth, 3% customer growth	\$1,000,000	515	\$1,942
		Difference in	
	No. Cust	<u>RPC</u>	<u>RDA</u>
Scenario 3: No revenue growth, 3% customer growth	515	\$58	\$30,000

Finally, as explained in further detail in the DAC clarification memo filed today under separate cover, the Company's RPC RDM is calculated on a monthly basis instead of an annual basis. This approach allows the Company to 1) reflect changes in number of customers on a monthly basis instead of an average annual basis in order to more accurately calculate the RDM; 2) calculate monthly carrying charges on monthly RDA balances which is more precise than annual carrying charge calculations; and 3) enable monthly accounting entries to accrue over- or under-recoveries.

Certificate of Service

I hereby certify that a copy of the cover letter and any materials accompanying this certificate was electronically transmitted to the individuals listed below.

Just Sant	
	October 16, 2020
Joanne M. Scanlon	Date

Docket No. 5040 – National Grid –2020 Annual Distribution Adjustment Charge Filing (DAC) - Service List as of 9/9/2020

Name/Address	E-mail	Phone
Raquel J. Webster, Esq.	raquel.webster@nationalgrid.com;	781-907-2121
Jennifer Hutchinson, Esq.	Celia.obrien@nationalgrid.com;	
National Grid	Joanne.scanlon@nationalgrid.com;	
40 Sylvan Road	Jennifer.Hutchinson@nationalgrid.com;	
Waltham, MA 02451	,	
T	LPimentel@rc.com;	401-709-3337
Leticia Pimentel, Esq.		
Steven Boyajian, Esq. Robinson & Cole LLP	SBoyajian@rc.com;	
One Financial Plaza, 14th Floor	SBOYAJIAN C TC.COM,	
Providence, RI 02903		
Ann Leary	Ann.Leary@nationalgrid.com;	
William R. Richer		
Melissa Little	William.richer@nationalgrid.com;	
Ryan Scheib	Melissa.Little@nationalgrid.com;	
Theresa Burns	Ryan.Scheib@nationalgrid.com;	
National Grid	Theresa.Burns@nationalgrid.com;	
Leo Wold, Esq.	Leo.Wold@dpuc.ri.gov;	401-780-2130
Division of Public Utilities & Carriers	dmacrae@riag.ri.gov;	
89 Jefferson Boulevard	MFolcarelli@riag.ri.gov;	
Warwick, RI 02888	Chetherington@riag.ri.gov;	
John Bell	John.bell@dpuc.ri.gov;	
Division of Public Utilities & Carriers	John Jen & apacinigov,	
21.13.61 of 1 done cannot be cannot	Al.mancini@dpuc.ri.gov;	
	i i i i i i i i i i i i i i i i i i i	
Jerome D. Mierzwa	jmierzwa@exeterassociates.com;	410-992-7500
Lafayette Morgan	,	
Exeter Associates		
10480 Little Patuxent Parkway, Suite		

300 Columbia, Maryland 21044	lmorgan@exeterassociates.com;	
David Effron	Djeffron@aol.com;	603-964-6526
Berkshire Consulting		
12 Pond Path		
North Hampton, NH 03862-2243		
File an original & nine (9) copies w/:	Luly.massaro@puc.ri.gov;	401-780-2107
Luly E. Massaro, Commission Clerk	Patricia.lucarelli@puc.ri.gov;	
Margaret Hogan, Commission Counsel	Fatricia.iucareiii@puc.ii.gov,	
Public Utilities Commission	Todd bianco@nua ri gov	
89 Jefferson Blvd.	Todd.bianco@puc.ri.gov;	
Warwick, RI 02888	Alan.nault@puc.ri.gov;	